2005 Students participate in all levels of education

The Ministry of Education carried out a survey to examine the condition of physical
exercise participation in all level schools, and used the stratified random sampling
method according to region and number of classes in the schools, sampling 10% of all
level schools in the country. The survey focuses on student participation in school
sport groups, needs and feelings toward school Physical Education classes, needs and
feelings toward school sport groups, ways of transportation to school, bike-riding
abilities, and regular exercising habits.
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